Honors Algebra 1
Summer 2018 Packet

Simplify each expression.

1) 10(1 - 10x) -9

3) -8 +4(9 — 10x)

5) —3b(3b + 4) + 10b?

7) —10(=n + 1) +2n(8n — 5)
9) —2b(b +4) — 6(10 — 5b)

Write each as an algebraic expression.

11) nincreased by 6 is greater than or equal to 42

13) twice z is greater than 43

15) the sum of a number and 10 is 13

17) twice x is less than 8

2) =3(1 — 10X) — 9x

4) 10b+9(b+7)

6) —5(=2v — 7) + 2(—6 + 6V)

8) —6(—r —4)—5r(10 + 5r)

10) 10(3 — 8m) — 2(m — 8)

12) 10 more than a number is 34

14) 7 more than a number is 17

16) 11 more than a number is 41

18) the sum of a number and 5 is greater than or equal to 25

19) the difference of a number and 9 is greater than or equal to 26

20) the 10th power of n is equal to 40

Solve each equation.

21) 15=7n+8n

22) 7=-3m+4m



23) —6b-3b=9 53 1 3
24) = —k—— 4>
30 25

) _%:_%n_%n 26) 3(2n—2) +2=32
27) 0=—8(x +3) — 4x 28) —8 =—8(6 + X)

29) —20 = —5(-3x + 1) 30) 2(8n —3) =6

31) 5m—20=-2(1 — 4m) 32) 1—(7+5%)=8x—232

33) 5(5a—1)=5a-25 34) 2(-2n+3)=11+n

35) 6(3X +8) = 2X 36) 6(X +2) + 5(4X — 4) =—60
37) =5(m + 5) — 2(4m — 3) = —58 38) =3 =5(1 + 7X) — 42 — 6X)
39) —7(2 +b) — 7(3 + 5b) = 49 40) —4(1 —7n) + 8(3n — 3) = —80
41) <3 -4p)-(2-7p)=5p+5p 42) 2(7Ta+7) =—4(1 — 4a)

43) =3(v—3) =—4(1 +V) 44) 4(n+7)=3(2 - 6n)

45) =3(5n +4) = —4n + 8(6 — 2n)

Solve each inequality and graph its solution.

46) -n—-8=>2-n-3 47) k< -3k — 4k
DR S S5 4321001 203 4050
48) 1 -8x<-Tx-17 49) X+4x<6Xx+8
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50) 3m—-4-2m=>6+3m

\_;0 _I9 _Ig _I7 _I6 —I5 —I4 —I3 —I2/
52) =5(m—-1)>-30

S5 7 s s 0
54) 8(x+8)< 72

& ! L
56) =31 —v<5(-75)

AT T S R
58) 7(x—8)< -2 —2x
\12345678910{1/
60) —8k +2 < 6(k—8)—6

\—1 0 1 é 3 4 5 é/
62) 4(2 —7x)>-2—2(x+38)
IS S S S B A
64) —5(8X —7) + 6X < 7(3X + 5)

\—2 -1 (I) 1 2 3 Alf/

51) —65>=—-5—-6(8p +2)

: i ; e

53) 42 > —7(1 - 7K)

& } =
—4 -3 -2 -1 0 1 2 3

55) 6(b+1)>-30

D P S R S

57) 7+2n<-3(n+6)

< ; } } } } —
9 -8 -7 -6 -5 -4 -3

59) —=5r+34<6(3r+2)—1

D S S S S

61) =6 —33b+1)>—(b—-7)

\—6 -5 —I4 -3 -2 -1 (I)/

63) 3(Xx+6)>—-4-5(x+2)

D L S A S S

65) —6(X —2) <—5% — (8 — 5)
IR S S S S A



66) —3(v —6) <2V — 3(v — 6)

N
v

70) 6(X — 6) < -3 — 3(1 — 2x)

&—1
<

A\ 4

-3 -4 0 4 8

Sketch the graph of each line.

5
71) y:—gx

N
v

-6 -5-4-3-2-100 1 2 3 4 5 6

67) -3x+ 16 >-3(x-238)

I S L
69) 8n —2(5n + 8) > 2(n — 4)
<« >

1
72) yzzx—z

N
A\ 4

-6-5-4-3-2-101l 1 2 3 4 5 6




7
73) y=—7—Xx-2
3
N
O
4
ya AN
N 6-5-4-3-2-10 23 45 67
—4
—0
v
75) y=—x-1
/]
0
4
ya AN
N 6-5-4-3-2-10 23 45 67

8
74) y=§X—4

A

ya AN
N 6-5-4-3-2-10 2345 67
4
—0
A4
76) x—y=-1
N
O
4
ys AN
N 6-5-4-3-2-10 2345 67




77) 5x -2y =-6
A
0
4
pd AN
Y 6-5-4-3-2-10 23 45 67
4
—0
N
79) x—-5y=-5
/]
O
4
ya AN
Y 6-5-4-3-2-10 23 45 67

78) 7x+3y=9

~

pd AN
Y 6-5-4-3-2-10 23 45 67

4

—0

N

80) x—-5y=-10

/]

(o)

4
2 AN
Y 6-5-4-3-2-10 2345 67




81) 2x=3+3y
N
0
4
ya N
Y 6-5-4-3-2-10 23 4 5 67
4
—0
N
83) -2=-x-2y
/]
O
4
pd AN
Y 6-5-4-3-2-10 2345 67

82) y=—X

~

pd AN
Y 6-5-4-3-2-10 23 45 67

4

—0

N

84) -2 =-x

/]

O

4
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N 6-5-4-3-2-10 23 4 5 67




85) 9y +3x =27

/

O
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Find the slope of each line.

86)

88)

N
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90)

N
v

Find the slope of the line through each pair of points.

91) (-2,-7), (-9, 11) 92) (-19, 14), (4, -16)
93) (-8, 14), (18, 11) 94) (12,-16), (14, -14)
95) (-20,-13), (-14,-12)

Find the slope of each line.

1 5
96) y:Zx—4 97) y:5x—3

1 99) y=6x+5
98) y=—-x+4
4

9
100) y:—zx+4

Find the slope of a line parallel to each given line.

3 1
101) y=—x+4 102) y=—x-2
)Y 5 )Y 1
103) y=4x 104) x=4
105) y=x-1

Find the slope of a line perpendicular to each given line.

106) x=-2



5 2
107) y:5x+4 108) y=§x+4

109) y=-10x+5 110) y=1

Write the slope-intercept form of the equation of each line.

111) 4x+y=-4 112) y=-7
113) 5x+9y =10 114) y=7
115) x+3y=-6

Write the standard form of the equation of each line given the slope and y-intercept.

1 1
116) Slope = 3 y-intercept = —2 117) Slope = > y-intercept =5

3 2
118) Slope = P y-intercept = —1 119) Slope = Y y-intercept = 0

120) Slope =-8, y-intercept =-5

Write the slope-intercept form of the equation of the line through the given points.

121) through: (-1, 0) and (-3, —4) 122) through: (2, 2) and (0, 4)
123) through: (-5, 5) and (3, —4) 124) through: (-5, —3) and (2, -3)
125) through: (-1, -2) and (4, 4)

Write the slope-intercept form of the equation of the line described.

126) through: (4, -3), parallel to y =-2x + 4 127) through: (4, 4), parallel to y =2x -3

128) through: (1, 2), llel to y=3x+4 1
) through: (1, 2), parallel to'y 129) through: (3, 1), parallel to yzgx—S

130) through: (—4, 2), llelto y=-X+5 1
) through: ( ). parallel to'y 131) through: (1, 0), perp. to y=ZX+4

-10-



1 1
132) through: (0, —1), perp.toy= _ZX -5 133) through: (-1, 0), perp.to y = ZX +2

134) through: (-3, 3), .toy=X 3
) through: ( ) perp-toy 135) through: (-3, 2), perp.to y = _EX +1

-11-



Honors Algebra 1
Summer 2018 Packet
Simplify each expression.
1) 10(1 —10x)-9
1 —100x
3) -8+4(9-10x)
28 — 40x
5) —3b(3b + 4) + 10b?
b*-12b
7) —10(=n+ 1)+ 2n(8n —5)
~10 + 16n°
9) —2b(b +4) — 6(10 — 5b)
—2b* +22b - 60
Write each as an algebraic expression.

11) nincreased by 6 is greater than or equal to 42

n+62>42

13) twice z is greater than 43

22> 43

15) the sum of a number and 10 is 13

n+10=13

17) twice x is less than 8

2X< 8

2) =3(1 - 10x) — 9x
-3+ 21X

4) 10b+9(b+7)
19b + 63

6) —5(=2V —7) + 2(=6 + 6V)
22v + 23

8) —6(—r —4)—5r(10 + 5r)
—44r + 24 - 25r°

10) 10(3 — 8m) —2(m — 8)
46 — 82m

12) 10 more than a number is 34

n+10=34

14) 7 more than a number is 17

n+7=17

16) 11 more than a number is 41

n+11=41

18) the sum of a number and 5 is greater than or equal to 25

n+5=>25

19) the difference of a number and 9 is greater than or equal to 26

n-92x>26

20) the 10th power of n is equal to 40
n' =40

Solve each equation.

21) 15=7n+8n
{1}

22) 7=-3m+4m
{7}



23) —{6_l11}—3b=9 24)§=k—%+% {;}

25) —%z—%n—;—ln {431} 26) 3{(62}n—2)+2:32

27) 0=-8(x+ 3)—4x 28) -8 =—8(6 + X)
{2} {5}

29) =20 =-5(-3x+1) 30) 2(8n—-3)=-6
{1} {0}

31) 5m—-20=-2(1 —4m) 32) 1 —(7+5x)=8x—-32
{-6} {2}

33) 5(5a-1)=5a-25 34) 2(-2n+3)=11+n
{1} =1}

35) 6(3x + 8) =2x 36) 6(X+2)+5(4x—-4)=-60
{3} {2}

37) =5(m+5) —2(4m —3) =-58 38) =3 =5(1+7X) —4(2 - 6X)
{3} {0}

39) =72+ b)-7(3 +5b)=49 40) -4(1 -=7n)+8(3n—-3)=-80
{2} {1}

41) -3 -4p)-2-T7p)=5p+5p 42) 2(7a+7)=-4(1 —4a)
{5} {9}

43) -3(v-3)=—-4(1+V) 44) 4In+7)=3(2-6N)
{13} {1}

45) =3(5n +4)=—-4n+ 8(6 —2n)
{12}

Solve each inequality and graph its solution.

46) -n—-8>-n-3 47) k < -3k — 4k

S TSI S ARV S
48) 1 -8x<-Tx-17 49) X+4x<6Xx+8
<§ 4:1 5 6 7 8 9 1:0 1:1 1:2 1:3’ <—i3 —iz —il —io —:9 —.8 —:7 —:6 —:5’



50) 3m—-4-2m=>6+3m

‘ M

oo —
-10 9 8 -7 -6 -5 —4 -3 -2

52) —5(m—1)>-30

A\ 4

€= - t >
5 6 7 8 9 10 11
54) 8(x+8)< 72
€= b t —>
-1 0 1 2 3
56) -31 -v<5(v-5)
< t i i i =
-3 -2 -1 0 1 2 3
58) 7(x—8)< -2 —2x
€= - >
1 2 3 4 5 6 7 8 9 10 11
60) -8k+2<6(k—8)—6
< : =>
-1 0 1 2 3 4 5 6
62) 42 -7x)=>2-2—-2(Xx+8)
e @—————+—
-4 -3 2-1 0 1 2 3 4 5 6
64) -5(8x—7)+6x<7(3x+5)
H—t+— =

-2 -1 0 1 2 3 4

51) —=65>-5—6(8p +2)

< : o . =>
-1 0 1 2 3
53) 42 >-7(1 = 7k)
&= ; - >
-4 -3 -2 -1 0 1 2 3
55) 6(b+1)>-30
e B L e e
-10 -8 -6 -4 -2
57) 7+2n<-3(n+ 6)
€= i i e @—— —>
9 8 -7 -6 -5 -4 -3
59) =5r+34<6(3r+2)-1
& } } — } =
-3 -2 -1 0 1 2 3
61) -6-33Bb+1)>—(b-7)
€= } —
-6 -5 -4 -3 -2 -1 0
63) 3(Xx+6)>—-4-5(x+2)
&~ ———
9 8 -7 -6 -5 -4 -3 2 -1
65) —6(X—2)<-5x—(8x—5)
s e e e S o
-5 4 -3 2 -1 0 1 2 3 4




66) —3(V — 6) <2V — 3(V — 6)

Pl
-2 -1 0 1 2 3 4 5

68) 5(6+p)—5>4+3(12+2p)

13 14 15 16 17

70) 6(x —6)< -3 -3(1 -2x)
S e e e

-8 4 0 4 8

Sketch the graph of each line.

5
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67) -3x+16>-3(x—-28)

DAL B
69) 8n—-2(5n+8)>2(n—4)
D o — >
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73) y=—7Xx-2
3
N
O
\
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4 \\ AN
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N
75) y=-x-1
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74) y=§X—4
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77) 5x—2y=—6

~

< / N
Y 6-5-4-3-2/10 234567
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/]
O
4
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78) 7x+3y=9
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81) 2x=3+3y

A\ 4

83) -2=-x-2y

~

A\ 4

82) y=—X

~
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85) 9y +3x =27
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Find the slope of each line.
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90)

N
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Find the slope of the line through each pair of points.
18 30
o) (=2,-7), (=9, 11) —— 92) (=19, 14),(4,-16) —_—
7 23
3
93) (-8, 14), (18, 11) Y 94) (12,-16), (14, -14)

1
1
95) (-20,-13), (-14,-12) o

Find the slope of each line.

96) —lx 4 — 97) —zx 3 el
a 4 =3 2
1 1 99) y=6x+5
98) y=—x+4 ——
4 4 6
100) y= 2x+4 J
=7 4
Find the slope of a line parallel to each given line.
101) —ix+4 3 102) —lx 2
=5 5 Y74 4
103) y=4x 104) x =4
4 Undefined

105) y=x-1
1

Find the slope of a line perpendicular to each given line.

106) x=-2
0



107) Oxsa 2 108) 24 2
y=3 5 y=3 2

1
109) y=-10x+5 T 110) y=1
Undefined

Write the slope-intercept form of the equation of each line.

111) 4x+y=-4 112) y=-7
y=—4x-4 y=-7
5 10
113) 5x+9y=10 y:—§x+? 114) y=7
y="7

1
115) x+3y=-6 y:—gx—z

Write the standard form of the equation of each line given the slope and y-intercept.

1 1
116) Slope = 3 y-intercept = —2 117) Slope = > y-intercept =5
X+5y=-10 X—=2y=-10
3 ) 2 .
118) Slope = P y-intercept = —1 119) Slope = Y y-intercept = 0
3Xx-5y=5 2x+3y=0

120) Slope =-8, y-intercept =-5
&X+y=-5

Write the slope-intercept form of the equation of the line through the given points.

121) through: (-1, 0) and (-3, —4) 122) through: (2, 2) and (0, 4)
y=2Xx+2 y=-X+4
9 5
123) through: (-5,5)and (3, —4)y = —gx Y 124) through: (-5, —3) and (2, -3)
y=-3

6 4
125) through: (-1, -2) and (4,4)y = gx 5

Write the slope-intercept form of the equation of the line described.

126) through: (4, -3), parallel to y =-2x + 4 127) through: (4, 4), parallel to y =2x -3
y=-2X+5 y=2x—-4
128) through: (1, 2), parallelto y =3x+4

1 1 5
129) through: (3, 1), parallelto y=—X—-5y=—X+—
y=3%—1 ) through: (3, 1), p y=gX =y =Xty

130) through: (-4, 2), parallel to y=-X+5

1
131) through: (1, 0), perp.toy=—x+4
y=—Xx-2 4

y=-4x+4

-10-



1 1
132) through: (0, —1), perp.toy= _ZX -5 133) through: (-1, 0), perp.to y = ZX +2

y=4x-1 y=-4x-4
134) through: (-3, 3), perp.to y =X

3 2
135) through: (-3, 2), perp.toy=——X+1y=—x+4
y =—X 2 3
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